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=) UPCOMING ONLINE BATCHES

05 OCT 2022

05:30 PM to 07:30 PM

BANK ONLINE LIVE CLASS

01:00 PM to 03:00 PM

SSC ONLINE LIVE CLASS

BILINGUAL

05 OCT 2022

BANK ONLINE LIVE CLASS

BENGALI+ENGLISH

& www.mahendras.org

P

October 2022

12 OCT 2022 19 OCT 2022

10:30 AM to 12:30 PM 03:00 PM to 05:00 PM

BANK ONLINE LIVE CLASS BANK ONLINE LIVE CLASS

07:30 PM to 09:30 PM 10:30 AM to 12:30 PM

SSC ONLINE LIVE CLASS SSC ONLINE LIVE CLASS

BILINGUAL BILINGUAL

19 OCT 2022

BANK ONLINE LIVE CLASS

BENGALI+ENGLISH

26 OCT 2022

08:00 AM to 10:00 AM

BANK ONLINE LIVE CLASS

05:30 PM to 07:30 PM

SSC ONLINE LIVE CLASS

BILINGUAL

N 7052477777/7052577777



# PUJA KUNDU &% ————— 1 day ago

The ans is...
Q S P URT
B E C F D A...THANKYOUSOO MUCH SIR FOR THE AMAZING SESSION &% . Ju o'

gy 2 GP  REPLY
v 1 REPLY

Nadeem 1 day ago (edited)

(@ Homework Wl

Row 1 (South Facing) -QSPURT

Row 2 (North Facing) -BECFDA

s+ Thank you Sir.. awesome Session Sir = ., %

gy GP  REPLY
v 1 REPLY

Subhankar Sarkar 1 day ago

Home work

ROW 1: QSPURT

ROW 2 : BECFDA

THANK YOU SIR FOR THIS AMAZING SESSION &

0y GPF  REPLY
v 1 REPLY



ﬁ% Simran Chauhan 1 day ago
| Homework answer is
QSPURT

BEECFDA
THANK YOU SIR FOR THIS AMAZING SESSION X,

oy 2 L REPLY
- 1 REPLY

Mohit.. 1T day ago

Thank-you Sir for this very Amazing Class Session of today's.. .
And

My Answer for today’'s homework is-

Q-S-P-U-R-T.(])..

Read more

o oA REPLY
- 1 REPLY

3! Sagar Paul 1 day ago

k

il Thank you sir for this amazing session @
Homework' s answer is '==
Q—S—P—U—R-—T
B—E—C—F—D—A

o o REPLY
- 1 REPLY

Miharika Jha 1 day ago

Thank you sir for the session &
Homework answer:




Surbhi Sinha 1 day ago

Home work question=== QSPURT,,,,,BECFDA DONE SIR , THANK U SIR PRATICE ACHI HO RHA HAI OR SPEED BHI
DHREE DHREE ARAHI H

@y 1 GP  REPLY
v 1 REPLY

fi’“ g % RASHMI SONI & 1 day ago
HW ANSWER,,
Q‘S‘P:U.R.T
B,E,C,FDA
VV FRUITFUL SESSION
5 GP  REPLY

v 1REPLY

student life ¥ 1 day ago

Qspurt

Becfda

Read more

@y GP  REPLY
v 1 REPLY




Anjali 1 day ago s Anupa Kerketta 1day ago
Homework work ans is- @ Hw ans

QSPURT
BECFDA QSPURT
Thank you sir.. o BECFDA
Thank you sir nice session
dy &GP  REPLY )
v 1 REPLY b GP  REPLY
, v 1REPLY
e? Muskan Rai 1 day ago
F answer -QSPURT .

BECEDA ""’ Twinklr Gupta 1 day ago
TIHJ;"ahIIK U SIfR F.C}F?. WG‘NDERFULL SdEESION 9 [T e
sir help me forincreasingmy speed ., wn oo o8 58 .

P gmysp Homework ans is
5 &  REPLY Row 1- QSPURT
v 1 REPLY Row 2 - BECFDA

G Atigya Garg 1 day ago 'ﬁ .I g] REPLY
Homework ans is : v 1REPLY
Row 1 : QSPURT
Row 2 : BECFDA
@ student life ® 1 day ago
Read more Puzzle m solve kr leta hu bt syllogism me confuse rhta hu hmesa &3 @3
REPLY

- 9 & G REPLY
v 1 REPLY

w 1 DEDIV



Neha Singh 1 day ago

1st Row=QSPURT
2nd Row=BECFDA

gy 1 GP  REPLY
* 1 REPLY

Poonam Bhatia 1 day ago

Today's home work ans is... First row QSPURT..... Sec row... BECFDA.

b GF  REPLY
* 1 REPLY

Shefali Thakur 1 day ago

ANSWER:
1st Row: QSPURT
2nd Row: BECFDA

@b %P REPLY
v 1 REPLY

Simran Chauhan 1 day ago

cls mb homework ka answer cmnt kia th.. .. jbki cls k ekdm bd hi kr dia th ...but show nhi hua shyd @3 &3

@b %P  REPLY
v 1 REPLY




Prakash Dwivedi 1 day ago

Ans -QSPURT
BECFDA

o &F REPLY
* 1 REPLY

Shivangi Shivi 1 day ago
1- QSPURT
2- BECFDA

gy GF REPLY
* 1 REPLY

student life % 1 day ago

Sir rs baar mera naam v ligiega =2
i B REPLY

v 1 REPLY

DIKSHA PARIHAR... 1 day ago

Today's hw answer is—
Row 1—QSPURT
Row 2—BECFDA

gy GR REPLY
* 1 REPLY

Riyva Mandaokar 1 day ago

Qspurt
Becfda

L




Lecture Summary :-

Alphabetical Series _—
Coding — Decoding __— S Q — <0

Inequality P /

Pair based Question _—
Syllogism -
Blood relation based puzzle —
Circular Based Sitting <«—

Arrangement based puzzle —

Linear based Sitting Arrangement < — /
Distance and Direction based Puzzle ( Point to Point )

Parallel row based Sitting Arrangement &—



If 1t IS possible to make only one four-lettered meaningful word without
repetition of any letter with the third, fourth, eighth, and the eleventh

letters of the word ‘CONSECUTIVE’, which would be the secomnu letter
of the new word? If more than one such word can be formed, give X as

the answer. If no such word can be formed, give Y as your answer.

Ife 3188 'CONSECUTIVE' & 8L, N9, 313d 3T ™R 37e70 9 foreft off
& T TR T o T sharel Teh =R aaﬁ?ﬂaéqﬂfaloq ST O9a g, I e
YTSE ST SO ST S T NI I UH ek & 1freh y1ee o Tehdl &, aF ST
T F X 3| A V6T P 3168 TS ST ST GhdT 2, dT ST ST Y 2

1IN 2T @ 4Y OS.E
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S54ABN&35E21U*G@O9CS57FKI4£TVI94HELMI

A \_N_

Four of the following are alike in a certain way based on their position in the
above arrangement . Find the one which does hot belong to that group?

SYh 9T H 379+ feerfd o 1R W fFeferfad ° @ = weh fAfeya atier & gmm 2
36 HHE I IqT G 11 39 T § Gl 71 82

1.7KE
24€1
34B3

4UGO

>.B&E




- v o~ — — —
54AB%&35E21U G@O9C57FKI4£TVI4HELML

If the first eighteen elements 1in the above sequence are written in reverse
order, then which of the following will be at the eighteenth position from the

ht end?
Ir%\slfum S H U8 ITSHE dedl ohl 3o i H Tt SIrat ©, a1 HHfafga /@
I T BR U ASNEd T I N

A «f
3.0 t
4.9

5.NOT




e ——— e EE—

54AB% &35E21U*G@O©9CS57FKI4£TVI94HELM1

1——

If all the symbols in the above arrangement are dropped then which of the
following element is tenth from the left of third element from the right end ?

Ife I9UH AT H Tl YeTehT shl BT <7 STTaT & of AHfeiRad § 9 i 97 dedl
IR 9 9L ded & 94 O SHa 27

L= L o+ 3
1.U g -R @
2.5 / ¢ 4K
3.7 LN
4.F

5.E
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54AB% &35E21U*G@O9C/57TFKI4E£ETVI4HELM L

How many numbers are there which are immediately preceded
by a symbol and followed by a consonant ?

vt foraT Gt € fSHeh 3k U8l ek Udfioh 3T S1E H Ush S 27

11 — -

2.2 & N =R
3.3 CL
4.4

5.NOT




58%&35E21U G@O©I9C57FKI4ETVI94HELM

How n)?any vowels are there which are immediately preceded by a perfect
square”
U fora T & e 3ieh vact T ot af &

1.1
3.3
4.4
5.NOT




\
In a certain code language,

“focus on economic development™ is written as “vl n su”’
“greater growth more development™ is written as “wr ea vl om”
“more focus Is Important™ Is written as “su ta nx ea”
“economi’c_ growth Is important™ Is written as “tom nx”

What is the code for 'economic’ / ‘economic’ & flT e T &

2Nx—
3.1a
4.su
5.N0




\ In a certain code language,
“focus on economic development™ is written as “vl no }));/ su”

“greater growth more development™ is written as “wr ea vl om”
“more focus Is Important™ Is written as “su ta nx ea”
“economic growth Is important” Is written as “ta pr/ om nx’’

— /

What is the code for "growth Is important™? / "growth is important"s feTq =< == &2

.0m ta nx
2.Wr ta nx
3.ea nx py
4.0m ta py
5.Cannot be determined



\ In a certain code language,
“focus on economic development™ is written as “vl no py su”

“greater growth more development™ is written as “wr ea vl om”
“more focus Is Important™ Is written as “su ta nx ea”
“economic growth Is important™ Is written as “ta py om nx”

What is the code for ‘master’? /' master ' = feie e == 8?




©) suemens—

M>N>0=P<Q<R>S
Conclusion®

. M>P —
. O<R _—

1.Only II 1s true
2.Both I and II are true
3.0nly I 1s true

4 Either I or II 1s true

5. None i1s true



Statement:
—

.
MZ2B2N=Z>XS<R>S

e
e
L. M>X/

II. N>S 2

1.Only II is true
2.Both I and II are true

3.0nly I 1s true
4.Either I or II 1s true

5. None 1s true



Statement: _—

D<E<F, G>Hx>IOF
Conclusion: - ~
. E<H X

. H>D —

1.Only II is true
2.Both I and II are true
3.0nly I is true

4 Either I or II 1s true

5. None 1s true

&

p——r



\
How many such pairs of letters are there in the word ‘CONDITION’, each of which
has as many letters between them in the word (both forward and backward direction)

as they have between the English alphabetical series ?
316¢ 'CONDITION' § 378 o UH fohd Siie 8, {58 & Tcdes o st 316g § (31T 311
e a1 fGuTratl o) 3a- 2 378 & It foh STOsf JuimTat e & sfte 82

1.Two

3.Four

4 More than Four
5.0ne



\
Statement:

Only a few cups are buckets.
No bucket is a jug.
Conclusion:

|. Some cups are not bucket.
I1. Some cups are not jug

h¥-:

N [ v
hId HS FY ATee] ol
TS STedl ST A2l 2l
ﬁ@FEIQ:

[. % &9 e T2 ol
[l & HT S 8




\
Statement:

Only a few cups are buckets.

No bucket is a jug. >

Conclusion: q@ e
|. Some cups are not bucket. _~ ’

11. Some cups are not jug e



\
Statement: FHIT:

All numbers are natural. WH@T@ qTeRfIE &
Only a few numbers are prime. < L :
hId S HEATE AT g

Conclusion: R

l. No prime is number. TSN

I1. Some prime are natural. I. oh\lé ITeq el gl 2l
+ 2\ ¥
[I. %S JTSH < .

O



\
Statement:

All numbers are natural.
Only a few numbers are prime.
Conclusion:

l. No prime Is number. ~.~
11. Some prime are natural. /




\
Statement: FHIT-

Some vowels are words.
Only a few words are sentences.

F T Y14 B
N\ o
hacl e T8 T B

Conclusion:
|. Some words are not sentences. frrseh:
11. Some vowels are sentences. [. 5o e AT Tel 2|

1. %S @A



\
Statement:

Some vowels are words.
Only a few words are sentences.
Conclusion:

|. Some words are not sentences. /
I1. Some vowels are sentences. ?(



*
Q 1s father of A and B. X 1s mother of K, N is son of A. N i1s the only brother of K. X 1s

daughter-in-law of P. P has only one daughter and one son.

Q, A IR B &I AT 81 X, K T AW &, N, A I T &1 N, K 3T Sehaiil 915 5l X, P &l
T 3| P 1 kAl Teh T 3R T T &

Which of the following needs to be true to establish that K is daughter of X?

K, X 1 T=ft 2, I8 T1UA i o fIe Heftiad ® & i 91 9 {7 STE9ah o7

>@ unma@

X has only one son
3. Nis grandson of Q
4. No extra information is required
5. None of these




Elght persons A, B, C, D, E, F, G, and H are sitting around a
01rcle All of them are facing the center but not necessarily in
the same order. Two people sit between C and D. Three people
sit between G and A. D 1s second to the right of F. Two people
sit between H and B. G 1s not an immediate neighbor of D.H 1s

an immediate neighbor of E.

AR AR A,B,C,D,E,F, GaﬁTHgohoméhdlCiBﬂTé%%l?Fr
axft 1 7@ obs\?ﬁsﬂt% AT STTavTeh e S A A Y C 3ﬁTD

FUE S ARFAS ) G INAF AT AT ATF IS D, F e
ﬁaﬁwwé‘&% H 3R B & = el Ak 93 81 G, D &

Feheay qert 92t 2| H, E 1 fehean yeie 21 <

)

e



\
Eight persons A, B, C, D, E, F, G, and H are sitting around a circle. All of
them are facing the center but not necessarily in the same order. Two people

sit between C and D. Three people sit between G and A. D 1s second to the

right of F. Two people sit between H and B. G is not an immediate neighbor
ot D H 1s an immediate neighbor of E. D




\
Eight people A, B, C, D, E, F, G and H buy different items but not

necessarily 1n the same order. Three-person buys items between A and D.
Two persons buy items between B and A. A buys item immediately
before G and after C. Two people buy item between H and C. A buys an
item after B. F buys an item before E. Neither F nor E buys items first or
last.

A ANE A, B, C, D, E, F, G 3 H HAT-3HAT IEC G & ATk STeeash
TS SET 3RhH H BT oI ATk A 37T D oh sl 3773eH @iied &l g1 =4tk B 3T A
= A3 THEd 8l A, G ¥ 31k U8 AR C o o1 AT3eH TiedT =l & AT H
3R C & o= 311geq @lied 2] A, B % o1€ Ueh 315eH @edT 2l F , E & Uga
Ueh 3TT5eH WledT & | Tl F IR T & E Uga AT ATRIL AT3eH WiiedT 7




Eight people A, B, C, D, E, F, G and H buy different items but not
necessarily 1n the same order. Three-person buys items between A and D.

Two persons buy items between B and A. A buys item immediately

betfore G and after C. Two people buy item between H and C. A buys an

item after B. F buys an i1tem before E. Neither F nor E buys items first or
last. 72

&0
—>
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Eight friends A, B, C, D, E, F, G and H are sitting in a row with equal

distances between each other, but not necessarily in the same order. All
of them are facing north direction. Two people sit between E and C@
sits at one of the extreme ends. A sits second to the right of C. B sits
fourth to the left of F. F Is not an immediate neighbor of C. H sits third

to the left of D. D_does not sit at extreme ends.
13 T A, B, C, D, E, F, G 3N H Ush Ufth H T UL o st THH gt o AT IS &,

cifoh STt & Toh gt 5hH W 2| 3 AT hl 7G 3 T ST R E St C F =
f<h dd%lEW@W@RW@IdI%lA C TR § T T W SBT 8| B, F h
I 9 =Y TIM W S3T 2l F, C T Heread TSt 91 =1 H, D 3 TP e T W

3131 D Jifad 3R w7 dar ?




\
Eight friends A, B, C, D, E, F, G and H are sitting in a row with equal

distances between each other, but not necessarily in the same order. Al
of them are facing north direction. Two people sit between E and

sits at one of the gxtreme ends)A sits second to the right of C. B sits
fourth to the left of F-Fisnot an immediate neighbor of C. H sits third

to the left of D. D does not sit at extreme ends.

P
4 EHBC DA T ~_

{ J

% RY Vvigvc\Be




‘ Sahil starts from Point A and walks 8 m in south and reaches point B, then turns towards his left
and walks 4 m and reaches Point C, from point C he turns his right and walks 5 m and reaches
Point D. From D he turns 8 m towards left and reaches to E. From E he again turns left and walk 5
m reaches to F again turn right and walk 4 m to reach point G. Finally he again turns to his left and
walks 8 m and reaches Point H. What is the distance between A and H and H is in which direction
with respect to A?

Afee foig A ¥ SIeil Y& shidT & S afeqor # 8 Hie =iefdT & 31 foig B W qg=rar &, it 7t of1g 21
H@m%ﬁuﬂﬁaaam%&ﬁtmcqwsdm% e C U o8 qusm%aﬁTSﬂﬁaW%sﬁtﬁaD
U T 2 D ¥ 9 qear & 8 Het ot 31K 3N E a9 Te=ar 2| E%Ta‘a'ﬁo‘{ﬁmwsm%sﬁtsﬁzt
IAdI 2 F doh qsdql%aﬁtﬁﬁ{ﬁmwsméaﬁt&qu{ qEa o fTT 4 Hiet et 21 37 | 98 T &
aﬁaréaﬁww%aﬁwﬁmaw%sﬁtﬁgquﬁm%lAaﬁTH%aﬁaaﬁaﬁmﬁéaﬁIA
& g o H foheg feem # 29

1A7m, West 2
2% GRE®

4. 12—11178‘0_11‘fh‘E‘ast
5. 16 m, East /




There are twelve persons sitting in two parallel rows. Six persons A, B, C, D, E and F
are facing north and other six P, Q, R, S, T, and U are facing south. Each person from
one row faces exactly one person from the other row but not necessarily in the same
order. A and R sits diagonally opposite to each other. There are two persons sitting
between R and Q. One of the immediate neighbors of Q faces C, who does not sit near
A. P faces B and P 1s not an immediate neighbor of Q. There are two persons sitting
between B and D. T sits second to the right of U. E does not sit at any of the extreme
ends. S and T 1s not an immediate neighbor of each other. A sits at one of the extreme
ends.

<1 FHIIG Uil 3 SITE =it I8 81 B8 =4ith A, B, C, D, E 31N F 3Tl 31 3@ & 3N
IFABTEP, Q,R, S, T 3R U IfeA0T I 3T 37 &| T Ufeh o Tcdeh AT<h o1 HE@ gl Ufh
% Yo Ueh Txh ohl 3T & Tifeh STTaveh Tl Set shH H &l | A 3T R Ush S8 o foiey foadta
33 1 R 3T Q o o= &1 Afeh 9 Bl Q o fHeheaw Ieife™i 4 8 Ueh C il IR 3HE ?, ST A

% e 7 ST ]1 P #1H@ B T 3N B 3N P, Q 1 FHehead T<ie 721 81 B 3R D &% s
A SRR IS 2l T, U o R 8 S8 €I G 937 2] E forelt off 3ifam s agf 93121 S 3 T

Ueh 28 o Tehean yeret i 2. A forell uer sifar s g dar R

(N

%




\
There are twelve persons sitting in two parallel rows. Six persons A, B, C, D, E

and F are facing north and other six P, Q, R, S, T, and U are facing south. Each
person from one row faces exactly one person from the other row but not
necessarily in the same order. A and R sits diagonally opposite to each other.
There are two persons sitting between R and Q. One of the immediate
neighbors of Q faces C, who does not sit near A. P faces B and P 1s not an
immediate neighbor of Q. There are two persons sitting between B and D. T
sits second to the right of U. E does not sit at any of the extreme ends. S and T
1s not an immediate neighbor of each other. A sits at one of the extreme ends.

2 o Ra (= s
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